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Cuadro 7 (continuación 5)/Table 7 (continued 5)
Costa Rica: tablas abreviadas de mortalidada

 Costa Rica: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.013 0.013  100 000  1 270  98 959 0.986 b 7 518 789 75.2
1 4 0.001 0.003  98 730   296  394 154 0.997 c 7 419 829 75.2
5 5 0.000 0.001  98 434   131  491 844 0.998 7 025 676 71.4

10 5 0.000 0.002  98 303   183  491 059 0.997 6 533 831 66.5
15 5 0.001 0.004  98 120   382  489 648 0.995 6 042 772 61.6
20 5 0.001 0.006  97 739   593  487 210 0.993 5 553 124 56.8
25 5 0.001 0.007  97 145   694  483 993 0.992 5 065 914 52.1
30 5 0.002 0.008  96 452   783  480 302 0.991 4 581 920 47.5
35 5 0.002 0.010  95 669   930  476 021 0.989 4 101 618 42.9
40 5 0.003 0.013  94 739  1 240  470 595 0.984 3 625 597 38.3
45 5 0.004 0.018  93 499  1 718  463 200 0.977 3 155 002 33.7
50 5 0.005 0.027  91 781  2 473  452 723 0.966 2 691 802 29.3
55 5 0.008 0.041  89 308  3 637  437 447 0.949 2 239 079 25.1
60 5 0.013 0.063  85 671  5 363  414 947 0.920 1 801 632 21.0
65 5 0.021 0.098  80 308  7 885  381 826 0.877 1 386 685 17.3
70 5 0.033 0.151  72 423  10 942  334 757 0.814 1 004 859 13.9
75 5 0.051 0.226  61 480  13 897  272 657 0.728  670 102 10.9
80 5 0.079 0.332  47 583  15 792  198 433 0.612  397 445 8.4
85 5 0.125 0.473  31 791  15 037  121 360 0.470  199 012 6.3
90 5 0.196 0.639  16 753  10 701  57 015 0.318  77 652 4.6
95 5 0.305 0.802  6 053  4 853  18 129 0.121 d  20 637 3.4

100 ω 0.478 1.000  1 199  1 199  2 507  2 507 2.1
Mujeres/Females

0 1 0.010 0.010  100 000  1 014  99 070 0.989 b 7 983 226 79.8
1 4 0.001 0.002  98 986   244  395 311 0.998 c 7 884 156 79.6
5 5 0.000 0.001  98 742   106  493 443 0.999 7 488 845 75.8

10 5 0.000 0.001  98 636   114  492 893 0.999 6 995 402 70.9
15 5 0.000 0.002  98 522   172  492 178 0.998 6 502 509 66.0
20 5 0.000 0.002  98 349   202  491 242 0.998 6 010 331 61.1
25 5 0.000 0.002  98 147   243  490 128 0.997 5 519 089 56.2
30 5 0.001 0.003  97 904   323  488 711 0.996 5 028 961 51.4
35 5 0.001 0.004  97 581   437  486 812 0.994 4 540 250 46.5
40 5 0.001 0.007  97 144   660  484 069 0.991 4 053 438 41.7
45 5 0.002 0.010  96 484  1 006  479 902 0.987 3 569 369 37.0
50 5 0.003 0.016  95 477  1 548  473 517 0.979 3 089 467 32.4
55 5 0.005 0.026  93 930  2 431  463 571 0.966 2 615 949 27.9
60 5 0.008 0.042  91 499  3 812  447 964 0.946 2 152 378 23.5
65 5 0.014 0.067  87 687  5 865  423 770 0.913 1 704 414 19.4
70 5 0.023 0.108  81 822  8 851  386 979 0.861 1 280 644 15.7
75 5 0.038 0.174  72 970  12 731  333 022 0.780  893 664 12.2
80 5 0.064 0.276  60 239  16 600  259 693 0.665  560 642 9.3
85 5 0.105 0.416  43 639  18 157  172 800 0.521  300 949 6.9
90 5 0.171 0.588  25 481  14 985  89 945 0.360  128 149 5.0
95 5 0.275 0.766  10 497  8 037  32 391 0.152 d  38 203 3.6

100 ω 0.423 1.000  2 460  2 460  5 812  5 812 2.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


